Estimate

SharePoint Intranet Build



Date May 22, 2020
Estimate Number 9226
Expiration Date June 22, 2020

Estimate Total \$9,200.00

From Mr. SharePoint, LLC 6457 South Kimbark Ave Unit 1S Chicago, IL 60637

To KMT Medical

17755 US HWY 19 N

Suite 201

Clearwater, FL 33764

Task	Rate	Qty	Amount
Homepage	\$100	8	\$800
Create a homepage in a hub site that has the following sections:			
Featured New			

- Market News
- Cooperate News
- Social media spotlight that is linked to the right social media entities
- Video from KMT main website
- Comments section

Please note: all site collections below will share the same top navigation since they will be linked to this hub site.

 Our Company (top level link in global nav) Code of Conduct Corporate brand materials Global Calendar Travel Calendar Holday Calendar Org Chart (to be provided as graphic or can use a 3rd party tool such as PlumSail Org Chart.) Board of Directors (need more details on what API needs to be used and what data needs to be pulled) Company Policies Cooperate Policies COVID-19 Location Directory Legacy (need more details on what API needs to be used and what data needs to be pulled) 	\$100	24	\$2,400
 Cooperate (top level link in global nav) My Career (need more details on API requirements Link to success factor on iconnect (need more details on API call) Benefits (needs AD credential mapping will need more details on this) 	\$100	12	\$1,200
 Projects & OKRs PMO Site (top level link in global nav) OKRs (Link to 15five website 	\$100	1	\$100
 Functions (top level link in global nav) Legal Compliance Finance MBM IT Warehouse Marketing HR 	\$100	2	\$200
JDS Micro-site for centennial (top level link in global nav that will be security trimmed for HQ group) Please note: I will need some more details for this as I'm not sure what all needs to be displayed back via API.	\$100	8	\$800
MBM (top level link in global nav that will be security trimmed for MBM Team)	\$100	1	\$100

Business Intelligence (will link to existing dashboards or links only) • MBM page • Performance Monitoring • Top 7 • Finance • HR • IT (link to Azure Sentinel/Arc) • Company Names (will be provided with a dashboard and report)	\$100	4	\$400
Tools (top level link in global nav) HR Menu Site IT Forms and Tools Training Video Conferencing Password Vault PMO Wishlist/Feedback Section	\$100	2	\$200
Set up and verify proper permissions for each site or link.	\$100	8	\$800
Create and deploy SharePoint modern theme based on brand standards or guidelines that will be provided.	\$100	5	\$500
Training and documentation (as needed).	\$100	5	\$500
Customize the Modern SharePoint top navigation bar using css by way of an SPFx solution and deploy to all sites created through this proposal. Will need ideas from KMT Medical on how the branding of the top navigation should be.	\$100	12	\$1,200

Subtotal	\$9,200.00
Total ?	\$9,200.00

Notes

Thank you! We really appreciate your business.

Terms

We do expect payment within 30 days, so please be sure to process payment within that timeframe. There will be a 1.5% interest charge per month on late invoices.



